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Physics

Formulas. Solve for the indicated variable.
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WILEY AND ROADRUNNER: ACME Rocket-Cycle

Wiley Coyote has a running speed of 15 m/sec; the Roadrunner zips along af 75 m/sec.
Wiley has ordered from Acme a hydrautic Rocket-Cycle, a sure-fire Roadrunner catcher. With this
device, Wiley lies in wait behind a boulder, cycle primed aid ready to 20, waiting for the
Roadrummer to appear.  The new cycle will blast along at 120 m/sec, but only for 5 seconds before
it has to reprimed, a process which takes Wiley 9 second.

At last, Wiley spots the Roadrunner 300 m off, moving away; he fires off the Rocket-Cycle
and the pursuit is on. ' . - :

Plot a position vs time graph for the chase o show when and where Wiley Coyote caiches
the Roadrunner .....(717)......OR.....the distance of closest approach if he fails.

WILEY AND THE ROADRUNNER » JET Powered ATV

Wiley Coyote, i another new scheme to catch the Roadrunner (tastilus morselus), has 2 jet
powered ATV that rockets instantansously to a constant speed of 24 m/sec when triggered. The
Roadrunner, starting from rest, can uniformty accelerate at 8 m/sec”. If the roadrumner is stopped 25
m away from Wiley's hiding place and both take off when the ATV starts, will Wiley have a snack?

Plot both motions on a position vs time graph. Clearly show on your graph the time and
position when either Wiley caiches the roadrunner gr the time and distance of closest approach 1
Wiley goes hungry again.

WILEY "TRAINS® THE ROADRUNNER

Wiley Coyote is in hot pursuit of the roadrunner (sprintimus maximus), but this time, they are
both on trains. Wiley espied the ro_adr}mner boarding 2 slow train at the station and hopped fhe
next ezpress frain going the same way.

The roadrunner's train has a speed of 30 ft/sec and Wﬂey‘s"iias a speed of 100 fi/sec. Wiley's
train is catching up fast. The wack starts to climb a steep incline. The distance between the two
rains is getting smaller and smaller.. '

In anticipation, Wiley climbs out onto the front of the engine of his train, the better fo see, and to
be ready to hop aboard the other train. '
_ But when the distance between the two trains is only 600 &, the caboose of the roadrunner’s train
mysteriously comes loose and starts to decelerate at 6 fifsec®, The engineer of Wiley's train

immediately applies the brakes, causing a deceleration of 10 fifsec ™,

Describe what happens to Wiley.,
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